Show all work to receive credit.

CHMI152 Quiz6 25 Pts Spring 2018 Name: @

1) For PbClp (Ksp = 2.4 x 10~4), will a precipitate of PbCl, form when 0.10 L of 3.0 x 102 M
Pb(NO3)2 is added to 400 mL of 9.0 x 102 M NaCl? You must show work to support you
answer.

A) Yes, because Q > Kgp, B) No, because Q =Kjsp
C) Yes, because Q < Kgp. N XD) No, because Q < Ksp.
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2) A solution is prepared by mixing 500. mL of 0.10 M NaOCl and 500. mL of 0.20 M HOCI. What
is the pH of this solution? [Ka(HOCI) = 3.2 x 10-8] Buffer So Juhon
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3) Assuming equal concentrations of conjugate base and acid, which one of the following mixtures is
suitable for making a buffer solution with an optimum pH of 9.2-9.3?
A) NaNO; /HNOz (K, =4.5 x 10—4)
B) NaCl /HC1
C) CH3COONa/ CH3COOH (K, =1. g x 10-5)
D) NaOC1/HOCI1 (K, =3.2 x 10-8) o
@NHg / NH4Cl (Ka = 5.6 x 10-10) —Log (&.¢ Xio7 ) =

4) The molar solubility of tin(Il) iodide is 1.28 x 102 mol/L. What is Kp for this compound?
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' 5) You have 500.0 mL of a buffer solution containing 0.20 M acetic acid (CH3 COOH) and 0.30 M
sodium acetate (CH3COONa). What will the pH of this solution be after the addition of 20.0 mL of
1.00 M NaOH solution? [Ka = 1.8 x 10-3] 0.15+6.082082
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6) The solubility of lead(Il) iodide is 0.064 g/100 mL at 20°C. What is the solubility product for
lead() iodide?
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c=vh ¢=3.00x108m/s E=hv h =6.63x103*]Jes Show all work tofeceive credit.

1. (2 Pts) The orbital diagram for a ground-state nitrogen atom is
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3. (6 Pts) Write the ground state electron configuration for each of the followmg

a. bromine atom. S~ 28T DVP 35 BP ’7"% gd'aL{P St D\;‘qu 33 "P
b. S*ion EA“j OJL 15 ;)-S ng 35 F R P
c. Fe* ion [}-}rj 3 dg Gﬁb !5 2 5 9{"“‘ 35 )3{" 3 Q’ -

4. (3 Pts) What is the wavelength of radlatlonsthat has a frequency of 3.4 x 101 g1
c 3,00x/0 /m
- A= A = 3qmo 2Q>wo

5. (3 Pts) Calculate the frequency of visible 11ght having a wavel

C 3,06)</08 =
VA4 SAVRE

6. (3 Pts) A ground-state atom of vanaglum has  unpaired electrons and 1S
A) 0, diamagnetic D) 5, paramagnetic
B) 2, diamagnetic E) 4, diamagnetic

7. (2 Pts) If we take away two electrons from the outer shell of calcium, it would have the same

electron configuration as what element?
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8. (2 Pts) How many unpaired electrons does an atom of sulfur have in its ground state? :’\

DHO D

9. (4 Pts) Calculate the energy of a photon of light with a wavelength of 360 nm. (n = 10?)
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